Maths Monday

Year 3 Simmering
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Match the bubble to its cauldron
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Year 4 Simmering

7 Times Table Multiplication
Wheels

|

o Ln

=

oo kJ

DU.'I

o L co
— e (]
S

wun O

E_n.

=1
—

k3
(%]
—
o
~J
D
o~
LA

=
L

i,
—

—hi
ha
k.
—h

(%]
LD

| w 00
e} —_ w
~J
00 ~J
w
0o|— i |
o~ un w
~J
£ P2
y E



Year 3 Work

RODEQ ROURDUP

Use a number line to help you.

Round these 3-digit numbers to the
nearest 10.
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Lasso around each 3-digit

T
“ﬁ" number and join it to

) the nearest 10.
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Year 4 Maths

Tens Ones ® Tenths Hundredths

Add these numbers into the place value chart.

34 57.8 b.6 70 9.8

I. What does the digit 4 represent in the number 347

2. What would the digit 4 represent if you did the
calculation 34+107?

3. The digit 7 in 57.8 represents 7 tenths. True or false?

k. What does the digit 6 represent in 4.67

5. The digit 0 in 70 represents 0 hundredths. True or false?

6. What would the digit O represent if you did the
calculation 70=+107?

/. What does the digit 8 represent in 9.87
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Challenge

| Complete these number sentences. 2 Louise is thinking of a Y-digit number.
Here are some clues to the number.

25+25+25+25=[:]x 25 mmwwwmq,ooo

and 5,000
IO+I0+IO+IO=C]><5 All the digits are different
25+25+25+25=\_4x5 fheﬁg“nﬂn p‘:::l:e
25+25+25+25=\_J><I00 The sum of the digits is 24
S The numb ;
25+25-25-25= X 25 er is odd
— What could Louise’s number s,
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Answers

Year 3 Simmering

3x4=12, 6x4=24,4x4=16, 7x4=28, 2x4=8, 5x4=20, 10x4=40, 11x4=44

12x4=48, 9x4=36

Year 4 Simmering
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Year 3
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Year 4
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|Te.n.s Ones ® Tenths Hundredths

5 |9 [ | 8
L || 6
2 | o
a || 8

Add these numbers into the pLa.n:a value chart.

34 57.8 b.6 70 9.8

. What does the digit & represent in the number 347

L ones

2. What would the d.LgLL 4 represent Lf you did the
calculation 34+107?

4L tenths

3. The digit 7 in. 57.8 represents 7 tenths. True or false?
false

L., What does the d.LgLL 6 represent in 4. 67

6 tenths

5. The digit O in 70 represents 0 hundredths. True or false?

false

6. What would the digit O represent if you did the
calculation 70+107

O (zero) tenths

/. What does the digit 8 represent in 9.87

8 tenths
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Challenge Answers

Complete these nhumber sentences.
25+25+25+25=@>< 25

IO+IO+I0+IO=><5

25+25+25+25=(20|x 5

25+25+25+25=| | |X100

25+25-25-25=| 0 [X 25

~——

2 Louise is thinking of a Y-digit number.

Here are some clues to the number.

The number lies between 4,000 |
and 5,000 )

Al the dighsare different |
T:: digit in the tens place is };n;l;:ei
e digit in the thousands place

e sumof the dghs s 24

The number ’,; ’; &;{ = )
What could Louise’s nhumber T

be? 1,983 ,U,384 o
®" 4587 | 4.785 Maths



